
���� ������ 	
��
  

  
��� : ���	
� ���
��
 ���� ������ ����� ����� :  

           ���� ���
�     ����
� ���
�  
           ����       ����  
 �� ���
�         252000    350000   
 !��� : �� ���
� �"�	� :  

   #�$��� %���      12000      5200   
   #�$��� ����      6000      2600   
   #��&�� #�$��� ��' �����( )�
�	�  9600      4160   
  ����� #�$��� ��' �����( )�
�	�  192000    192000   
   *����� �"�	�      219600    203960   
   + #��"
� ��� ,�� -�./�    �"(      87840   
          219600    291800   
  0 #��"
� �/1 ,�� -�./�     87840      "( �  
  �����
� ��%2��
 �����(
� �"�	�
�  131760    291800   
    
   3��
� ����      120240    58200  

  
 !��� : ����%4� )�
�	�
�� 5��6�
� )�
�	�  

   #��&��
� 5��6�
� )�
�	�    2880      4000   
   )�
�	�
�� 5��6�
� )�
�	�  
  �����
� ����%4�      20000      20000  
  
�	�
�� 5��6�
� )�
�	� 7���� )�  
   ����%4�       22880      24000   
   8���
� ��&$�
� 3��    97360      34200  

  
 ����� : �� ���
� #%��. -� ,'�
�� ����
� ���
� ��2�� 9�"/�� :��6�  

                 -	�� ��� ;�2 < ��= �� ���
� >�
� *���4�� �� ���
� -� �	 ��� ���	
� ���
�
� �= 3��
� %�� �
     4� #%��. 5��� -� 3��
� #%��.           #��"
� �/1 ,��
� -�./�
� #%��. -� ;�2 ���	
� ���
�
� 7���?� *���

           ����� �
? 8%@� A
B -	
� < #��"
� A�� �= !����� %�%.� ,� -�� �� ���
� �"�	� 9�"/�� �
? 8%@�
                    �C= ;%C2 �� �BD� ��
��
� #��"
� ���%� �D �� #��= ���E� -�./� -� ;�2 ��
��
� #��"
� �= ��6	�


� �
�2
�#�� � .  
  
  



 ��
�� : #��&��
� ���
��
 ���� ������ ����� �����  
          ���� ���
�     ����
� ���
�  
           ����       ����  
   �� ���
�       252000    350000   
   !��� : #��&��
� )�
�	�
�  
  #�$��� %���       12000      5200   
   #�$��� ����      6000      2600   
  #��&�� #�$��� ��' �����( )�
�	�  9600      4160   
   #��&��
� *����� �"�	�    27600      11960   
   + #��"
� ��� ,�� -�./�    �"(      11040   
          27600      23000   
  0 #��"
� �/1 ,�� -�./�     11040       �"(  
  �%2��
 �����(
� �"�	�
� �����
� �  16560      23000   
   +#��&��
� 5��6�
� )�
�	�    2880      4000  
   #��&��
� )�
�	�
� 7����    19440      27000  
   ��D�6�
� %���      232560    323000  
   !��� : �����
� )�
�	�
�  
  ����� #�$��� ��' �����( )�
�	�  192000    192000   
   ����%�� )�
�	�
�� 5��6�
� )�
�	�  
  ���
� ��        20000      20000   
   �����
� )�
�	�
� �
���?    212000    212000  
  8���
� ��&$�
� 3��    20560      111000   

  
� ��� : -����
�
� G���� -�� 5�=��
�  

          ���	
� ���
�
�   #��&��
� ���
�
�   5�"
�   
 ���� ���
� :  

  8���
� ��&$�
� 3��    97360    20560    76800   
   �/1 ,�� -�./� #��"
�    87840    11040    76800  

                 #�C�"
� �/1 -�./� �"�	� -�H �����
� �����(
� )�
�	�
� *��%? �
? ���� 8���
� ��&$�
� 3�� �= 5�"
�
 �=  #��"
� �CCC/1 ,��
� -�./�
� �"�	� �= ���%�
� �����
� �����(
� )�
�	�
� I��� ;�2 ���	
� ���
�
� �=  

  

 ���	
� ���
�
� )192000 × 480 #%2�  =76800(   
     1200 #%2�   
  
  



 ����
� ���
�  
 8���
� ��&$�
� 3��    34200    111000  )76800(   

 #��"
� ��� ,�� -�./�    �"(    �"(     �"(  
0#��"
� ��� ,�� -�./�     87840    11040          
0�
� 5��= -�./      )87840(  )11040(  )76800 (  
  

�6��/ :                   N�CE
� �� ��%�� :62 #��= �	 �= #��&��
� ���
�
� �� ���	
� ���
�
� 7���� 8�� ��
� �
�
� ���
                 #%C��� �C� �EH�� �
 ����/ �
� �E�� ��� � ���O 
�� �P=�	�
� ��� ��(2
� -��H
 !���� -� ��E��

 ����
�Consistency ��� �H�� ��
��    ����CH �C"��/�
� ���6�2�
� ����"
� �= ,�D�"�
�� %����
� >"� 7��
                   �C� �=�C��� #��	BC�
� �
�2
� �= #��%4� >��� �
� �E�� 7���� -� ��	 ����6
� ��������
 ,����� ������


��6�2�
� >���
� �= �E����� :���
� ���O/�� ���� �
� .  
  

�6%�6 :      ���'�� G���� ,���� G�% ,� �� �B?            ��� -�./� %��� �� #%2�� #��"	 ��E � ��� �
� ,�� -� ��
� �= 
        -� ;C�2 �C ���
� )�
�C	�
� �C��
� )O�/�� ��2��
� )��/� -�= �"( #��"
� ���E� -�./�� �"( #��"
�

#��"
� ���E�� ���%� �= -�./� %��� ,%� �
�2 �= ��2��
� >"� ��E�� G��� -����
�
� .  
  

������ ������ 	
��
 :  
� �"��/� 9��'� �"��/� )�
�	 :  

��
��
� ��6���
� 9��'�� ��%/
 )�
�	�
� >��� ,�� ;�2 )�
�	�
� -� ��6�2�
� )�%D� %% �� :  
1.                  -C� G�C��
� ����� ����� >��� �
��
��� ��%/ �� -�	 � �6 G���
� #%2� �"�	� ��� )� �
�

 #��6/ �� 3��.  
2. *���4� -� � �6
� -�./�
� ,���� . 
3. %��6�
�����%��
� ���.���
� %�%�?� ���/�
� �= #. 
4. ������
� �� 6�� �(�/
� ������
� B�/�� �= #%��6�
� . 
5.  )�
�	�
� ��� �����
� . 

                             :C6��� 8BC
� ,�E"�
�C= ����6C
� 9��'�� �=�	 �� ,�O�� �"�	��
 %2�� ,�E"� %��� � ��� ���
� -	��� 
       /�� )�%D�� �� :6���� � %� �� )%D  8� .             ,��C��� ��C���� �C���� >�C�� )%E
� -�	 �BQ= A
B ����

      ��� "
� �"�	�
� -�= � �6
� -�./�
� )  ��/����
� (   OC�
� ,�CE"�
� �D -�	�   A
B
 ,� .    �D )%E
� -�	 �B? ��� 
    %�%�? �= #%��6�
�             )�
�C	�� �C���� )�
�	� �
? ����6��
 ���/�
� )�
�	�
� :���� -Q= ����%��
� ���.���
�

��.���
� %�%�? #��= �O/ �E��%2 �����
� )�
�	�
� ��� .�	��
� -�	�� ����2 -�	� #��&�� .  
             ����
�� #��&��
� )�
�	�
� -�� �("
� -�	� �� 6�
� ������ B�/�? �= #%��6�
� )%E
� -�	 �B?�   �� �����H �

                 �C���� -	�� 8B
� 7��H
�� )��64� ���P� A�E�6�
� ��2�� � ��2 ����� �
� )�
�	�
� >��� ��� .�	��
� .
                 �C�� "
� )�
�C	�
� -� �	 >��� 8���H
� -� -�	� )�
�	�
� ��� �����
� )%E
� -�	 �B?� )   �C�/����
� (

        ��E��� ��=��2��� >��� -	�� ��2 ����� �
� )�
�	�
��          :6C2� �E����6C� �C
? ��C=��2�4� A�� ���2��
��.O
� ������
� ��R���4� B�/�4 �E�� ��
��6�
� .  



 �"�	�
� >��� �E��� -� ��
� 9��'�� %% �� �E����� :���
� �"�	�
� ,�D�"� %% �� �B	D� .  
  
2 .= ���%2
� �����(
� �P$��
� �= ��$��� >�6� ��� )�
�	�
� ��6�2� 7���� ����������
��	�� ��� :  

   ��
��
� ��6���
� S��(/
�� ���%2
� �����(
� �P$��
� ,6�� :  
• #������ ���%2 ����
��	�� ��1 ��� �=��	� %����4� ����� �����
� �����(
� )�
�	�
� #%��. .  
•              �C�� %������ 9�"/�� �$���
� �� 
� �"�	� �(�/ �"(�� T���6� #��&��
� )�
�	�
� 9�"/��

(� 
� ��&$�
� �= 8�$�
� � . 
•  ������
� 7���� %% � . 
•  ���(�
� �= ����	��
� �
U� :6�2
� ,
� ��� %��.��
� %������ . 
•  ����
� ���(�
� ,
� ��� %������ . 
• -�./�
� ��� %������ ������ 8��"
� *����� ,
� 7���� . 

         � )�
�	�
� S�(/�� >��� #���H �
? ����6
� S��(/
� �%� %�
�    �	$� #�$���
� ��' �����(

                 �C�' �����(C
� )�
�C	��
 ��6�
� -.�
� #%��.� ,6�� *���4� �"�	� �	�D 3�(� ;�2 T���6� 5��%

#�$���
� .             S�(/� %�� ��$��� >�6� ��� ��6�2�
� 7���� ���2
� ,
 � �= �H"� A
B 5��2�
�
 �O/ -� A
B� #�$���
� ��' �����(
� )�
�	�
� :  

0 $��� %�%2��� .  
0 ��$��� �"�	� >��� . 
0                ��$C��� �� ,RO�� ��
� �"�	�
� ��	�2� ,�%/�6� �O/ -� ��$� �	
 ���2� ��% � :�62

 �"��/�
� . 
0 ��$��� -� �	�E�6� �� >�6� ��� �������
 #�$���
� ��' �����(
� )�
�	�
� ���2� . 

         $� )�
�	�
� >��� �
? ��$��� >�6� ��� ��6�2�
� 7���� 8%@��        8BC
� �C��� T���6� ��% ��	� �	
                �= ����� 8�/� �=��� �
? �=�H4�� ������
� A�� ��� %������ %�� ����6 ������ B�/�� �
? 8%@�

�E�� %2
� �� �D%� ��6� :���
�� ���� )�H� � ��
� A��� ���� )�H� ��
� ��$��� ��� 5� �
� .  

 ������ ������ 	
��
  

)� ( ��� :  
1 . #�$���
� %���
� �(�� ��=��2��  

 #�$���
� %���
� ��=��2�� -� -���� %��� :  
  ���� :                 �%C � %�C�� �
�2 �= ��%/�6�
� ��� "
� ���	
� -� ���62 ,��� #�$���
� %���
� ���	 )��2�� �D

         �= -	��
� -� -�	� < %���
� ,�%/�6� 8��� �           :C���
� %��6C
� �C��	
 8��� � �% � %�%2� �	�$
� NBD
                     ,� -�� A
B� ,�� ,
 �E�Q= ��%/
� ����� ��� �= �
�. �� �	�$
� -� T��
� -	
� < ����� �	 �= �E��%/�6�

#�$���
� %���
� �(� 
 )��2�� %��� O= .  
  ����
� :         ���$�
� ����	
� -� ���62 ,��� #�$���
� %���
� � 6 )��2�� �D       )��C2��� ��
��6� -� ;�2 < #

    �(C= -� -C� OH= < %��6�
� ����� � ,��� ��
� #��%4� 5��� ��� >�
� �����$�
� #��%? 5��� ��� ���
 -�./�
� ������� �=�(��
� %���
� -� ��6�2�
� ����� �E6� R��$
� %�� � 6
� )��2��  



-� 7�� �	
 %���
� �� 6� ��=��2�� ���2� ��� ���=�%��6
� 7����  .  
 ���6
� %��6
�  
 � 6
� )��2��  

 ��� "
� �����$�
� ���	 × �� "
� � 6
�  
5000 ���	  ×0.53       2650   

 ��� "
� �����$�
� ���	 ×8��� �
� � 6
�  
5000 ���	  ×0.50      2500   

 #�$���
� %���
� � 6 )��2��    150  :
�6  
 8%� 
� %��6
�  
 � 6
� )��2��  
����$�
� ���	 ��� "
� � × �� "
� � 6
�  

10000 ���	  ×0.40      4000   
 ��� "
� �����$�
� ���	 ×8��� �
� � 6
�  

10000 ���	  ×0.42      4200   
 #�$���
� %���
� � 6 )��2��    200  :���  

2 .#�$���
� ����� ��=��2��   
 #�$���
� ����� ��=��2�� -� -���� %��� :5�"
� ����� ���� �% � )��2�� ���=%�
� ��� "
� ����� -�� 

 )O�/� -� G���
� )��2��� ����� ���"	
� )��2�� �D ����
� 7��
�� ��� "
� ����6�
 8��� �
� ���� -���  
 8��� �
� ���� �% �� ����� ���� 
� R�%� ����
� 8��� �
� ���
� -� �� "
� �� 
� ����6 . :�62 ,��


��
� �2�
� ��� ��=��2��� A�� � :   
 ���� �% � )��2�� :  
 ��� "
� ����6
� %%� × �� "
� ���� �% �  

165 ���6  ×11.5      1897.50  
 ��� "
� ����6
� %%� × 8��� �
� ���� �% �  

165 ���6  ×9.00      1485.00  
�� �% � )��2�� �$���
� ��    412.50  :
�6   
 ���"	
� )��2��  

 ��� "
� ����6
� %%� × 8��� �
� ���� �% �  
165 ���6 ×9.00      1485.00  

 !��6�
� ����� �
� ����6
�  
 �E� * × 8��� �
� ���� �% �  
220 × 9.00        1980.00  

 �$���
� �� 
� ���"	 )��2��    495.00   :���  
  *40 ����%  ×55 ���� × %%� 6 ��%/ ������   
  



3 .��%/�
 ��� "
� �"�	�
�   
 %����
 ��� "
� ��% �
�� �� 6��� ��� "
� �� 
� ����6� %���
� ����	 ���� -� ��� "
� ��%/
� �"�	� �����

 �%�� -? ���2�
� ��=�H4� )�
�	�
� �
? �=�H��� < ������ . ��W� ���� 
� ���2� ,�� ,
 �
�2
� NBD �=�
�=��(�� ��� ��'� �H���=� ��� �D� ��=�H? R���� �� #�$��� ��' � .  

 ���6 %��6    

 ��%/�6�
� ��� "
� ���	
� × �� "
� � 6
� )3700 ���	  ×0.53(   1961.00  

 8%�� %��6    

 ��%/�6�
� ��� "
� ���	
� × �� "
� � 6
� )7800 ���	  ×0.40 (  3120.00  

#�$���
� �����    

�� "
� ����6
� � × �� "
� ���� �% � )165 ���6  ×11.50*  (  1897.50  

 ��� "
� �"�	�
� �
����  6978.50  

  
4 . 5��6
� ���2�
� R�H �= ���� �= :  
� (          �
� �2� ��%/
� )�
�	� �H� �= �	�$
� �2�� , �          %�C�� �C
? ���2�
� ����� ��$� ;�2 ����

     N�%� :��� �"�	� )��2��902.5         ��OC�
� �C"�	�
� �(��� ��C=��2�� ���C	 %�= A
B	� < ���� 
 )        ������ < 8%� 
� %��6
� < ���6
� %��6
� (T����� .       �% �
 :
�6
� )��2��� ����� -	�� ��� ��	

      �H���� ���@�
� �
�� 
� -� >�6� ��� ����           ���2�
� -� ��� ��	 < ����%
� �
�� 
� -� ���� T����� 
                  -C� ��C����� �= ��� 
� ��H�� 8B
� ���
� ������� �= B/@� ,
 8��� �
� �% �
� ��%�� %�� ���

     �/1 ���� �
? ���� .            ��
 -����% ���� -�� �� ��%/
� ,�%�� �= ����6�� �
�2 �= �	�$
� 3(���
� R��6 ���.� -� A
B ���2� �E�"�	� �� ��%/
� #%�� ��.  

: (                  �C�%/ ,�6� �	�$
� �H��� %�= �2��� �E�� ��� ��� ;�2 ��%/
� �= �����6��� �	�$
� �(��
  �% ��40         �&�� ��%���? ���2� ���� �	 -� �E��� 13200   ����  )55   ����  ×6   ��%/ ������ 

   %2��
� ��� �
 ×40   ����  (      �� 3H�� �D ��	 �"�	�
� ���	 ����� NO6978.50 ��$� -Q= ,� -�� < 
          ���� ������ 3�� �	�$�
 5�2 %� 5��%2
� %��6�� ��%/6221.50      !���� #%��. �����
� -�� �E��� 

 ����6�
� �= RO� 
� -� ���	 %% 
 ��%/
� ,�%�� �= �6���
 ����� ��$�
� �BD -� �	�$
� .  

 ������ ������ 	
��
)� (  

   �2��
 -�
% � �	�$
� ,%/�6�            :�6C2 ,�C�= ,C� -�� < �����
� )�
�	��
 �/U�� #��&��
� )�
�	��
 ��D%2� ��
      N%2 ��� )�
�	�
� -� 7�� �	
 ��=��2��� .         %�%2�
� ��� ��� �E��62 :����
� ��=��2��� ��@6
� %%2 %��

��=�H4� R����� ���2�
 8�/� 5�� %���
 T��
� -�2��O
 -��%����
 X��$� 8� :���
 .  
�
�	�
� #��&��
� ��=�H4� )  
1.       #��&��
� ��=�H4� )�
�	�
� 5�"�? )��2�? =    ��� "
� ��=�H4� �"�	�
�– )    ��� "
� ����6
� ×  �%C �

 8��� �
� ���2�
� (  
 =405000 – ) 40500 ���6  ×9.00���6  (  
 =40500 :
�6   



2.       #��&��
� ��=�H4� )�
�	�
� ���"	 )��2�� =    8��� �
� ���2�
� �% � )6
�   ��� "
� ����–  ����6
� 
 ����� �
� (  

 =9.00 ����  )40500 ���6 – 36000���6  (  
 =40500 :���   

•  ����� �
� ����6
� %%� =9000 5�%�(  ×4 5�%�(�
 ����6  =36000���6  .  
=�H4� )�
�	�
������
� �� :  

3.  �����
� ��=�H4� R����� ��.��� )��2�� = ��� "
� �����
� ��=�H4� )�
�	�
�– ��=�H4� )�
�	�
� 
����%��
� �����
� .  

 =122000 ���� – 120000 ����   
 =2000 )  :
�6 (  

4.  �����
� ��=�H4� R���Z
 *����� ,�2 )��2�� = ����%��
� �����
� ��=�H4� )�
�	�
�– )�
�	�
� 
 ���2�
� �����
� ��=�H4�  

 =120000 ���� – 108000 ����   
 =12000 ����  ) :��� (  

 �
���� ������ 	
��
)� (  

1.  ��=�H4� )�
�	�
� ���2� �% �  
 �
��
� �2�
� ��� N%2 ��� ,6� �	
 ���6� ���2� �% � :�62 ,�� : 

   ���(�
� ,6� ���2� �% � =250000 ����  ÷100000��6  � =2.50 ���6 �	
 ����  / �
�  
 �����
� ,6� ���2� �% � =360000 ����  ÷90000 ���6  =4.00 �$��� ��� ���6 �	
 ����   

2.  ,�� *����� ��� �"�	�846   
 #�$��� %���    4300 ����   
 �$��� ���    1300 ����   

 ��=�H? )�
�	�    905 ����  ) ���(�
� ,6�425 + �����
� ,6�480 (  

���4� �    6505 ����   

 ��U� �2�
� ��� #%2 ��� ,6� �	
 ��=�H4� )�
�	�
�� ���� ���2� ,� :  
 ���(�
� ,6� -� ���2�
� )�
�	�
� =2.5 ���6 �	
  / �
� ×170 �
1 ���6  =425   
 �����
� ,6� -� ���2�
� )�
�	�
� =4.00 �$��� ��� ���6 �	
  ×120 �$��� ��� ���6   

       =     480   
3. �
 �	�$
� �%�� %�= < �"�	�
� ��&� �= :�6
� >	 � -� :�� �%� 
� )�
�	�
� ���2� >�6� -�	 �

 %�"�6� ;�2 ,6�
� �BD �= �� 
� � ��� :6��� ���(�
� ,6� �= ��U� ��� ����6 ,�%/�6� -�
�� )��/� ����� < ��U� ��� G���
� ��&$� ���&�6� 8B
� ���
� �%� ��� )�
�	�
� -� G���
� ��

 #�$���
� �� 
� ����6 � �� ��� 8�$�
� �(� 
� ��� ��6�6� �"(� %�� � 8B
� �����
� ,6� �=
�H=� �	$� �����
� ,6� )�
�	� -� G���
� #%�"�6� >	 � . 

  



 �
���� ������ 	
��
)� (  

     �� ���6� ��B��� ��@6
� �BD ����       9��C"�
�� #%% �� �����? -� �2�2(
� ����4� ����/�� ����4� �E�= :�
                      -C� 8� �C�����? 5���� � ��%�� ���/ )�$�	� ��� N%��6� ��� �� < :
���
 A���? 8� ���� �BD ���� ��

            -������� ���� 
� �
�2
� NBD ����? -	��� < ��@6
� �= #%���
� �����4� :    �%/�6� ,�� -� �D �
���  ������
� ,
                 �� �C���4� �= �����
� �D�=�� ��
� ����� �
� ,�%/�6� ,� ��2��
� )�
�	� ����� %�%�4 ��@6
� �= �2���
�

            �C��	�� ����� %�%�? -�% #%2 ��� ��@6 �	 �= :����
� :�62 .     �CD �C
��� �C����
� -� T��C
��
           �2
� ��� ���= 9� � ���Q= < ���2
� NBD ��� �2 �= ��%/�6�
�         ��@C6 �C	
 :����
� :�62 5��� -� 

��2��
� )�
�	�
 ���	 ����� #%��? -�%.  
1.  #%�
� ��� -�./� -� ;�2 +75000 – 85000 = 10000#%2�  .  

 #%�
� ��� -�.2� -Q= =20000#%2�  .  
2.  %���
� �(� 
 �%� �
� *���4� ���	 =10000 + 85000 = 95000#%2�  .  
3. )�
�	� �(� 
 �%� �
� *���4� ���	 ���2�
�  =85000) + 0.4 ) ( 10000 ( 89000#%2�  . 
4.  �E$
� �O/ �E��&$� �= R%� ��
� ��%2�
� -� ,�6�
� *���4� ���	=75000010000=65000  

#%2� .  
5.  �%� �
� *���4� -� #%2�
� �"�	�5.00 < #�$���
� %����
 ���� 5.84 ���2�
� )�
�	�
 ����  . 
6.      � �/1 ��&$�
� �2� -�./� �"�	�  #%�
50000     < #�$���
� %���
� -� ���� 23360    )�
�	� -� ���� 

���2�
� .  


